
 

National 5 – Home Ex 3 
Remember to show ALL working 

 

1.  Expand and simplify 

(a)  10x3 – 15x2 + 25x + 2x2 – 3x + 5 = 10x3 – 13x2 + 22x + 5 

    

(b)   

 

 

2.   

(a)  2(m2 – 9) = 2(m – 3)(m + 3) 

(b)  (x + 3)(x + 5) 

(c)  (3x – 1)(2x + 1) 

 

3.  Simplify 

(a)   16a8   

(b)  10a-7 ÷ 20a4 = 1 ÷ 2a11  

(c)  20x11/2 + 15x1/10 

 

4. QR2 = 122 - 102 

QR = √44 

QR = √4√11 

QR = 2√11 
  

 

5.  s = 3000 ÷ 1382400 

= 0.00217 m/s 

= 2.2 x 10-3 

 

6.  104% = £894·40.   

1% = 8.6 

100% = £860 

 

7. 2√5 ÷ 5 
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